O  COMPANY :  PENWELL LEASE : S0. CROSS 16 ST. WELL NO. : 1 -~ I Pc = 1765.2  Pe2 = 3115.9 |

UNIT = SECT 16 TOWNSAIP : 18 1 *|

L: M1 B: T L/ : 1 G/GMIX : 0.767 [ Pt2= 313 P = 193.7 #||

302 : 0.112 N2 0.749 H2S : DATE  :6 16 98 || 0.0 ERR ||

d: 1.995 Fr :0.018231 GH : 5922.0 RANCE : 24 || 0.0 ERR ||
:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::I| 0-0 ERR *'l
I #||

VOL 1 : 78 PSIAl: 193.2 RESV.TEMP  151.2 [IPc2-Pa2= 3078.4 w2 = 37.5 4]

VoL 2 : PSIA 2 : H ERR ERR #||

VOL 3 : PSIA 3 : SHUT-IN PR= 1765.2 [ ERR ERR #[|

VOL 4 : PSIA 4 : [ ERR ERR #|

I H|

BCR: 667 T 1= 1.000 *}1

TCR : 411 | k||

[|Bc2/(Pc2-Pw2) = 1.012 % |

LINN | RATE L | | RATE 2 | | RATE 3 | | RATE 4 | g ERR £

I | I I | l l | [l ERR £

[ 18T f N CIST [ CAND | CIST | 28D | ST | oD || ERR £]|

| | l 1 i l t l I 4|

Lo Qv | 0.078] 0.078 | 0.000| 0000 0.000] 0.000] 0.000]| 0.000 || £
2 W | 53| 53| 53| 53| 53| 53| 534 | 534 ||[Pc2/Pc2-Pw2]n = 1.012 £ |
3000s | 61L2] 61l 61L2 | 611.2 | 6112 6112 611.2]  611.2 || ERR £}
¢ T ] ST2.6| S72.6| 572.6 | S72.6 | 572.6 | S72.6 | §72.6 |  572.6 || ERR #||
PR (est) |  0.29 | | 0.00 | [ 0.00] | 0.00 | [l ERR #|
5%(est) | 0.940| 0.936| ERR | ERR | ERR | ERR | ERR |  ERR || £||
6 T | 53811 835.7| ERR | ERR | ERR | ERR | ERR |  ERR || AOF= 0 0.079 #||
7 GE/T% | 11.006 | 11.055| ERR | ERR | ERR | ERR | ERR |  ERR || ERR ot
8§ e | LSII] 1.514] ERR | ERR | ERR | ERR | ERR |  ERR || ERR £ |
9 l-e-§ | 0.338| 0.339| ERR | ERR | ERR | ERR | ERR |  ERR || ERR #||
10 pt | 1932 193.24 00| 0.0 0.0 0.0 0.0 0.0 t]|
11pt2 /1000f  37.3 | 3.3} 0.0 00| 0.0 0.0 0.0 0.0 || £
12 Fr{0.018231 J0.018231 0.018231 [0.018231 |0.018231 [0.018231 [0.018231 |0.0182311 || £
13 FesfrfZ | 9.810 | 9.766 | ERR | ERR | ERR | ERR | ERR |  ERR || £]|
14 Fegm | 0770 0.76| ERR | ERR | ERR | ERR | ERR |  ERR || £
15 L/E(FcQm)f 0.6 | 0.6| ERR | ERR | ERR | ERR | ERR |  ERR || £
16 Fw  ]0.197978 |0.198927 | ERR | ERR | ERR | ERR | ERR |  ERR | #||
17 W2 | 31.5| 37.5| ERR | ERR | ERR | ERR | ERR | ERR || £
18 P2 | 5670 56.8] ERR | ERR | ERR | ERR | ERR |  ERR || t||
19 ps | 238.1| 238.3| ERR | ERR | ERR | ERR | ERR |  ERR || t||
20 P | 25.7| 25.8) ERR | ERR | ERR | ERR | ERR |  ERR || t]|
2l Pr | 032 0.32| ERR | ERR | ERR | ERR | ERR |  ERR || £ |
2 T 13 139 L3 139 L3 L3 L] 139 | £
231 | 0.9 | 093] ERR | ERR | ERR | ERR | ERR |  ERR || FORM (122-D £
{l



